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10|¥8H =7 51 57 108 26.4 81.6|10|F1L FH 49 52 101 24.0 77.0|10|EXK £ 42 42 84 8.4 75.6|10|FF MRF 47 46 93 14.4 78.6
11 |MH #rzBh 50 50 100 18.0 82.0(11|%#ff B— 43 48 91 13.2 77.8|11 |4 /4 51 50 101 25.2 75.8|11|&FH WF 55 57 112 32.4 79.6
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17|#+F # 50 54 104 22.8 81.2|17|@f =%x 58 53 111 34.8 76.2
18 |4k —3h 63 57 120 36.0 84.0|18|#tZ P& 51 59 110 33.6 76.4
10 |42M #k 57 68 125 36.0 89.0 |19|//\#k =5EF 47 50 97 20.4 76.6

20| A 52 51 103 26.4 76.6 HiR 0 4RERLSE HAa644

21EfE 5 51 45 96 19.2 76.8 £ X =

22|E8 7T 3845 83 6.0 77.0

23|5AK /HE=Z 4950 99 21.6 77.4 G3=Z7 19 %

24| JlE— 51 54 105 27.6 77.4 Sy 33 %

25HE #® 56 53 109 31.2 77.8 — % 13 %

26|fU% 3B 52 55 107 28.8 78.2 7 15 %

27|&kA&t B— 56 55 111 32.4 78.6 N R 0 %

28|imA ¥ 46 41 87 8.4 786 - g 80 %

29|5kMA ¥ 57 52 109 30.0 79.0 '

30|k B2 56 49 105 24.0 81.0

31|88 %2 51 60 111 30.0 81.0 BELAR—IL

32| KE8H B 52 52 104 22.8 81.2 720006000 17000003

332KIL £% 49 60 109 27.6 8l.4




5#0:2019 8 5 2 8B(K)

%5 20 FEmEIJAS 3HE

FaEh> N —{EEEEE
BRIRITIEATILRYY

G>=Z7 > Z 7 — fi% 1z T4
gt K % OUT IN TOTAL HD NET|Ef] K % OUT IN TOTAL HD NET |lIafiz] K % OUT IN TOTAL HD NET|Ef] K % OUT IN TOTAL HD NET
1|RE =4 46 56 102 26.4 75.6| 1 |AE B2z 43 43 86 144 71.6| 1 [ 404 41 44 85 132 71.8| 1 |&f £F 47 50 97 21.6 754
2|%E H 4546 91 144 76.6|2 |AAR M 46 45 91 192 71.8| 2 |=@ @ 5045 95 22.8 722|2|HA ©® 46 50 96 204 75.6
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